





Ex 4)
$$f(x) = x^{4} - x^{3} + x^{2} - 2x + 6$$

 $f(i) = i^{4} - i^{2} + i^{2} - 2(i) + 6 = 5$
Find equations for the tangent and
normal lines at $x = 1$.
 $f'(x) = 4x^{3} - 3x^{2} + 3x - 2$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(2) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(2) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(2) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(1) = 4(1)^{3} - 3(1)^{3} + 2(1) - 3 = (-m)$
 $f'(2) = 4(1)^{3} - 3(1)^{3} + 2(1)^{3} - 3(1)^{3} + 2(1)^{3}$



Ex 6) Suppose u(1) = 2, u'(1) = 3, v(1) = -2, v'(1) = 4

$$\frac{d}{dx} (uv) = Av' + V \cdot u' \qquad \frac{d}{dx} 2u - 4v + 3uv$$

$$= 2 \cdot 4 + -2 \cdot 3$$

$$= 8 - 6 \qquad = 2 \frac{du}{dx} u - 4 \cdot 4uu + 3 \cdot 4u \cdot v$$

$$= 2 \cdot 3 - 4 \cdot 4 + 3(24 + -2 \cdot 3)$$

$$= 6 - 16 + 3(3)$$

$$\frac{d}{dx} \frac{u}{v} = \frac{V \cdot u - uv}{V^2} = -\frac{2(3) - 2 \cdot 4}{(-2)^2}$$

$$= -(6 - 8 - 14) = -\frac{2}{4} = -\frac{2}{4}$$

Ex 7)
$$y = x^{4} - x^{3} + x^{2} - 2x + 6$$

 $y' = 4x^{3} - 3x^{2} + 2x - 2$
 $y'' = 12x^{2} - 6x + 2$
 $y''' = 24x - 6$
 $y'''' = 24$



35
$$y = x^{-1} + x^{2}$$

 $y' = -1x^{-3} + 2x = \frac{-1}{x^{2}} + 2x$
 $y'' = 2x^{-3} + 2 = \frac{2}{x^{3}} + 2$
 $y''' = -6x^{-4} = \frac{-6}{x^{4}}$
 $y'''' = 24x^{-5} = \frac{24}{x^{5}}$